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(- ) #include <stdio.h> [10 4] (= ) #include <stdio.h> [15 %~ ]
void main() void main()
{ intn=7,idx, Ans; { intcell[5]={80, 11, 9, 19, 91};
int RecFun(int); int idx, pass;
for( idx=1; idx<=n; idx++) int temp, len=5;
{ for( pass=1; pass<len; pass++ )
Ans=RecFun(idx)-1; { for(idx=0; idx<(len-pass); idx++)
printf(“IDX_%d= %3d\n”, idx, Ans); { if( cell[idx]<cell[idx+1] )
} { temp=cell[idx];
} cell[idx]=cell[idx+1];
cell[idx+1]=temp;
int RecFun(int a) }
. { if(a<=2) }
#E - return(a); printf(“PASS_%d= ", pass);
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